[5566[=]]
1999%1A12H~17H
RE - RRRT7AR7 U —F, B4 KRS

VFEY—ZA-1812 1P 2P 3P =
a4 K 4 1 2 = 7
FEN 1 1 1 = 3
VF&EY—27B-1812H 1P 2P 3P E
A EL 2 0 3 = 5
T FEIHK 0 2 0 = 2
VFEY—ZA-1813 1P 2P 3P E
7o R SkE 2 1 1 = 4
FEN 2 0 0 = 2
VF&EY—2B-1813H 1P 2P 3P E
BARSK I L 14X 3 0 2 = 5
E=RCICSEN 1 1 1 = 3
VFEY—ZA-1814 1P 2P 3P E
7N 2 1 0 = 3
7o R SkE 0 0 0 = 0
VF&EY—2B-1814H 1P 2P 3P E
T FEIK 3 3 1 = 7
ARSI L 14X 1 1 2 = A
VoiREH - 1H16H 1P 2P 3P E
ARSI L 14X 2 1 3 = 6
FEN 0 1 1 = 2
VEEREE - 1816H 1P 2P 3P E
a7 K 0 3 1 = 4
T FEIK 0 0 0 = 0
VEEREE - 1816H 1P 2P 3P E
7o R SkE 2 2 1 = 5
HREL 0 0 1 = 1
V3R EH - 1B17H 1P 2P 3P =
HREL 0 2 1 = 3

T FEIK 0 0 2 = 2



ViREs - 1A17TH

a7 K

g oS El

\VE < [=Liva

141 :
2 i :
3 :
417 :
5 :
61 :

mE7aN

(I8 7Sl

mAETL

T FEUR
SRR/ R P Y

)

1P

2P

3P

oT



